

UDS

LICENCIATURA EN ADMINISTRACION DE EMPRESAS

MATEMATICAS APLICADAS A LAS CIENCIAS SOCIALES

MAGNER JOEL HERRERA

JORGE ANGEL RAYMUNDO MORALES

18/01/2021

24/01/2021

$$\begin{aligned} 3x - 2y &= 4 \\ 5x + 3y &= 13 \end{aligned}$$

Despejar X

$$\begin{aligned} 3x &= 4 + 2y \\ x &= \frac{4 + 2y}{3} \end{aligned}$$

Substitucion

$$\begin{aligned} 5\left(\frac{4 + 2y}{3}\right) &= 13 - 3y \\ 20 + 10y &= 39 - 9y \\ 10y + 9y &= 39 - 20 \\ 19y &= 19 \\ y &= \frac{19}{19} \\ y &= 1 \end{aligned}$$

Reemplazar y

$$\begin{aligned} 3x - 2(1) &= 4 \\ 3x - 2 &= 4 \\ 3x &= 4 + 2 \\ x &= \frac{6}{3} \\ x &= 2 \end{aligned}$$

$5x + 3y = 13$
 $5x + 3(1) = 13$
 $5x + 3 = 13$
 $5x = 13 - 3$
 $x = \frac{10}{5}$
 $x = 2$

$$\begin{aligned} 4x + 3y &= -1 \\ 3x + 5y &= -9 \end{aligned}$$

Despejar X

$$\begin{aligned} 4x + 3y &= -1 \\ 4x &= -1 - 3y \end{aligned}$$

Substitucion

$$\begin{aligned} 3(-1 - 3y) &= -9 - 5y \\ -3 - 9y &= -9 - 5y \\ -9y + 20y &= -9 + 3 \\ 11y &= -3 \\ y &= \frac{-3}{11} \\ y &= -3 \end{aligned}$$

Reemplazar y

$$\begin{aligned} 4x + 3(-3) &= -1 \\ 4x + 5(-3) &= -9 \\ 4x - 9 &= -9 \\ x &= \frac{-9 + 9}{4} \\ x &= \frac{0}{4} \\ x &= 2 \end{aligned}$$

$3x + 5y = -9$
 $3x + 5(-3) = -9$
 $3x - 15 = -9$
 $3x = -9 + 15$
 $x = \frac{6}{3}$
 $x = 2$

